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1 Review the Lagrangian and stress tensor for an elastic solid.
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2 Find the Euler-Lagrange equations.

Eu le r-L egns: 0=2*7-2+2%7,-2j¥$IJ

0 = - 2AZERI t 2B2j2jrIt4C2µerJ2krJ2kr't)

fI=X;fiIt¢ I; onlykeeplinearterms i n 4 :gfgpjqpIZAE.fi-2132;Hit4¥2eµe5¥¥¥¥
¥eq5qI.ge#aif-
t4C2e2e4it4C2i2eet4C8e2eoizA2E4i-
K¥84340; t4caisjol;
I µ KIE,= 413,213,4+2/3+381=

4
c )



3 Find the plane wave solutions.
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4 Discuss the two types of sound waves in a solid.

P-wave. D I D ] ] ] ⇒
longitudinal (compression) sound w a v e

S-wave: DDDDDT →
transverse (shear) sound w a v e .
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5 How does a P-wave reflect o↵ a fixed/clamped boundary?
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